Date: Monday, August 25, 2008

To: Simpson260.com

From: Fred Scoles

Subject: Information about the enclosed Simpson 1000 data charts

The data chart that is already on your website is the “Supplemental & Obsolete” list from
the last half of the Operations Manual. It was also later reprinted in 3-62 as a separate
document titled “Model 1000 Seldom Used and Obsolete Tube Supplement”. Therefore, I
am not including this data list.

The main roller data chart I have included is labeled “Model No. 1000, January, 1962”.
These photocopied pages were from an original paper roll housed inside a tester; which
explains why there are some duplication of a few listings at the bottom and top of each
page. This 1962 roll contains the main tube chart data that is not found on any of the
“supplement” listings. It is one of the newer (latest) rolls Simpson had published.
According to the enclosed 1965 Supplement pages, Simpson had published a May 1964
roller chart, but we have not yet found any copy of this 1964 roller (and may never will).
The earliest known Simpson 1000 roller chart was 1954. I have enclosed only the 1962
roller chart because it contains all of the tube data listings that were ever contained in all
the earlier roller charts, and the newer listings to that date. We also have file copies of the
1956, 1958, and 1960 roller charts.

The single handwritten data page contains the “missing data” from two places on this
roller chart that were repaired years ago with the clear (aka “scotch tape”) tape that
darkened the paper to the point of obscuring the data under the repair tape; these places
photocopied as solid black. I transcribed this missing data to a page in my handwriting.
Every Simpson 1000 roller chart that I’ve seen are all on very thick paper which became
very brittle with age. This 1962 chart was in better physical condition than some others
I’ve seen. Nowadays, we know to use an acid-free high quality library-quality repair tape
on documents that need to last a long time. I’'m not sure how you will be including or
splicing in this “missing data”, so I have written the ID title lightly in pencil so it may get
erased.

Simpson Model 1000 testers are one of the more respected emission-style tube testers,
and are still commonly used today, even though the last units were sold new in 1962. It
was well designed, durable, dependable, and easy to use. It was the model tube tester that
the Eico (kit) company apparently copied (in about 1956) for their Eico Model 666 (and
later the Model 667) testers, which became immensely popular. These Simpson and Eico
testers are still used by many vintage Radio, HiFi and Electronics enthusiasts. They are
bought and sold every day on the internet auction sites such as Ebay. The list price of a
new Simpson 1000 was $133, but only approx $40 for an unassembled Eico kit.

This Simpson Model 1000 test data is useable with both the Simpson 1000 and the Eico
666 & 667 testers. These printed data listings can be easily set up on either brand tester
by applying a simple data/nomenclature translation of the testers’ panel switches and

knobs. I have included two photos (black & white, because I don’t have a color printer),



one photo of each of my Simpson 1000 and Eico 667 testers; that shows the panel
switches translation (tape labels) from Simpson to Eico, or vice-versa. I will also email to
you the color digital photos of these two panels, along with the MSWord file of this
memo, so you may edit or use any portion of it. One could also write this panel
translation information into a table or small chart, but everyone who has received these
photos says they are easy to use with their Simpson or Eico testers.

The Simpson Model 1000 Nuvistor 5-pin adaptor, described on page 9 of the March *63
Supplement has a different pinout scheme from other brands of testers and the various
adapter boxes. The Nuvistor data chart in this 1963 supplement matches only this
Simpson adaptor’s wiring scheme. The commonly found adaptor boxes such as the Eico
Models 610 or 610A and the Coletronics B-16, have Nuvistor socket wirings which do
not match this Simpson Nuvistor data chart!! This should not create a problem for
anyone, because one should always carefully check the pinout diagram of a Nuvistor tube
before testing it on a tube tester.



SUPPLEMENT

TUBE TEST DATA
FOR

MODEL 1000

COMPACTRON, NOVAR, NUVYISTOR
10 PIN, RIMLOCK, MAGNOVAL
(SYLVANIA) AND 10 PiN (AMPEREX)

JANUARY 1965

SIMPSON ELECTRIC COMPANY

5200 W. Kinzie St., Chicago, Hlinois 60644
Area Code 312, Telephone 379-1121

In Canada, Bach-Simpson, Ltd., Lendon, Ontario

Copyright 1965 Simpson
P

Electric Company




JAMDARY 1965 ROLL, CHART SUPPLEMENT

WOLRL 1009
TURE FIL. BIAS REKGE TOGGLES SHORTS
1AUR 1.2 O &0 255-105=5056-023 A
) er 3
SHAS 2.0 0 60 401-020-500-013 DI
2HKS 2,0 0 65 401-020-500-012 ABELE
2hliD 2.5 0 &0 401~-020-500-013 ABEF
SCAZ 366 O 70 015-555-055-333 J
SHAD 268 8] €0 401-020-500-013 ABEY
SHKS 2.8 0 o 401-020-500-012 AREF
SHMS 2.8 O 65 401~-020~500-015 ABEF
5JC8 2.8 25 40 045-~105-320-022 ABGHI
3JD6 2.8 25 39 045~108-320~022 ABGHI
3KE8 Pen.2 2.8 37 55 025-100~400~023 ABCFG
S3KF8 Pen,l 2.8 &7 05 020-100~430-023 ABGHI
4GZ5 3.6 25 2 041-052-200-022 ABFG
4HAD 3.6 0 €0 401-020~500~-013 ABEFR
£HG8 Tri, 5.6 0 40 005-104-300-002 AFG
4FG8 Pen. 3.6 40 ob 045-100-032~022 ABHT
4H5 3.6 O 56 401-020~500~013 ABEF
4506 3e6 25 35 045-105-320~022 ABGHI
4JD6 366 25 25 045-105=-320-022 ABGHI
4£JL6 5.6 25 30 401-022~-000-033 ABEFG
4JK6 3.6 29 05 401-022-000~-011 ABEFG
4HKDS 3.6 0 65 401-020-500=-012 ABEF
4KF8 Pen.2 D66 37 60 023~100~400-023 ABCFG
4KE8 Pen.l 346 37 60 020-100-430-023 ABGHI
4&GJ7 Trie 5.6 0 40 005=100-024~-034 AHI
4GJY Pen, 56 0 75 045~103=200-034 ABFG
5,0 0 25 5156-555-050~-000 B
9.0 0 <5 013=555=-050=000 C
260 G 40 006=100~024~034 AHT
5.0 Q 70 045=103-200-034 ABFG
SHGS Trid. 5.0 o 30 005~104-300~002 AFG
SHEE Pen., 5.0 4G 43 0456~100-~032-022 ABHI
5JKE 50 25 95 401=-022~000~011 ABEFG
S50 5,0 25 30 4(1-022~-000-033 ABEFG
2.0 G 95 200-100~-004=-023 AHI
9.0 25 €0 042-103~000~022 BCFG
5.0 O 80 300-100=004=012 AHT
DA Fen 5.0 ¥ 50 042-103=000-013 BCEFG

?

3
@
X
fme”

=gt

ma @ @ =y

HoE o @ me B e

o= —mim B =

salion BLE YR u o)

eI €3 I €5



R Fa
[a ey’ i

28 205=100=585=000 Id
st Upsn 6.5 G 90 406=105=205-013% ABGI
&t Cliosed 6,3 0 25 405-105-303-013
6CEB 6.5 25 75 200~103~004-012 ACFHI
6FGEA
Target Open 663 Q 70 450~-103=-203=013 ACFGI
6FGBA
Target Closed 6.3 0 70 450-103-353~-013 GI
6GJ7 Tri. 63 0 40 006=-100-024-034 AHT
6GJ7 Pen, 663 0 70 045-103-200~-034 ABFG
6GMB Tri.2 6,3 0 18 240~100~000-034 ABC
6GM8 Tri.l 6e¢3 0 18 000~102-400~-034 FGH
6GQ7 Dio,3 SIN) 0 85 025=-100-000~031 AB
€GQ7 Dio.2 6,3 0] 85 0056-102-000~031 FG
6GQ7 Dio.1l 63 0 85 0056-100-020-031 HI
6GV8 Tri. SIS} 0 65 3540~100~-000-023 ABC
6GV8 Pen. Bed 0] 80 000~1035=-304-001 FGHI
E6HAS 6.3 0 60 401-~020-5C0-013 ABEF
6HB7 Tri, 63 0 8"7 0056-100-034-033 AHT
6HB7 Pen. 665 30 60 0456~-105-200-033 ABFG
6HGS 643 29 50 401-032-~500~033 ABEF
€HGB Tri, 63 0 30 006-104-300-002 AFG
6HG8 Pen, 6.3 40 43 045-100-032-022 ABHI
6HJ8 Pen. 603 30 67 042-105-C00-022 ABCFI
6HJ8 Dio, 6,3 65 000-100-040-034 GH
6HLE Tri. 6.3 0 40 200-100-004-013 AHT
6HLS Pen. 6.3 35 40 042-103-000~-022 BCFG
HES 63 0 65 401-020-500-012 ABEF
6HME Bed 0 60 401-020~500~013 ABEF
CHZE 6ed 30 15 401-022-000~023 ABEXG
EHUG
Target Upen Bed 25 40 450=103-2563-012 ACFGI
EHUD
Target Closed 663 25 40 450-105~353~012 I
6306 Bad 25 30 045~105-320-022 ABGHI
£JD6 653 25 25 045-105=-2320~022 ABGHI
CIEG 65 o0 7C 240~105-505-320 ABHJ
5.5H6 €.3 25 16; 401-022~-000~022 ABEFG
$e 5.5 20 95 401-022~C00=-011 ABEFG
G.d 25 30 401-022~-000~-033 ABEFG
o G 9& 200=100-004-025 AHT
5e5 25 50 042-105=-000-022 BCFG

oo
TEEES .o

]

G2

H

TN =l oo I IS = el 2 e s B S B s S & 8

(osT o> N ez s I o o= I < s > R =

oy 2 o+

=TI 5 i 5



)

0 0o <3

~3 3

= e e

3
i

=

o W2
=3 -4 4

e

IS
oo
= F

=
02

[}
P

i
0
by 3
@ m g
B gl (B FF
< © tj it
i

o o
>
oo

3

a

0
:14
IR
owoom

@ v
"5 B

8
({i [
e

g

N

g By

o

T~
B |

@

s
poor
7 I

[op]
e
T g
£ o

= I
it

@
(ST ¢

om0 D
o 3 {;

*Ty
Wl
vy
[4)
Bt
ot
D

8JC8
g5C8

™
SR

{
[UNIR S

y
€A

PR
A

o
@ b
N CA

o)
L]
&

O O, OO O, [6))
é (=3
[WN]

-3 7
®

®

@

@

@

;Mo g g Gy v

©

3 -3 3 ~3 ~3 T ¥~
@

k4

)
-t

N
i

AW
(SN

B

(M
&

DO B0 VO
sy ;

w

O VWO OO WO
o o

(€3]
O

WO 0O OO0 OO O
O o (@]

[ SO C O O

{

ol
tcnooen o G D

s =3 VN O
o

(o230 Ol 6 I GF
oo oW

60
85

45
87

25
40

90
43

37

6o
65

50
50

30
43

52
a0

35
o0

70

000-100-423-032
002-100-000-033
020-100-000-033

042-100-000~013
000=105-042-011
000=100-034~013
040-102-200-022

500~100~-034=-013
040~103-200-022

042-100-000-013
000-100-425=-032

340~100-000-013
000-104-023~0153

043-100-000~013
000~100-423-033

200-100~-004-023
042-103-000-022

555-1056-5083-000
042-010-050-023
000-014-C52-023

340-105-400-012
540-103-400-012
0056-104-300-002
045-100-032-022

:3560-105-004~-002

542-1035-000~-012
005-104-300~-002
045-100-032~022
006-100-024-034
045-103-200-034

043-100-000=-013
C00C=100-423-021

540-100~000-013
000~104-023-013

201-004~000-033

350-105-C04-002
542-103-004-012

420-100-050-023
000-103-254-012

540-100~000~023
000~103=-304~-001

- 7N oA ~§y
QOO=100=543=-023

RELW AR N Lo
VAD 21O e B {11 2
042-3105-000-U1%

ABCRG
ABGR1L
¥GAl
AC

AR
ABC
FGHI
AHT
BCFG
AHT
BCFG

ABC
FGHI

ABC
CFGHI

ABC
FGHI

AHT
BCFG

IJ

ABC
FGI

ABC
FGH

AFG
ABHI

AHTI
BCFG
AFG
ABHI

AHI
ABFG

ABC
FGHI

ABC
CFGHI

AFG
AHT
BCFG

ABC
CFGI
ABC
FGHIT
A" 1

ABCE

M QO I,

o e

i HQ HP HO

L]

H» HOQ HE D@ "™ I P QO

e

M L

i e

by 4



o

;..L

.
[
¥
7

ok ot

O O
v

oo O .

o8] oz

O g

| SR S 4t

o oD

no

},_J
O o Q
— P
b b =
o (D
g P
(OB
[
»

12Du4
12FV7 Tri.z2
12FV7 Tri.l

12GN7

1207 Tri.2
1207 Tri.l

14GW8 Tri,
14GW8 Pen,

18DQ8 Tri.
15DQ8 Pen,
15HBE

15KY8 Tri,
15KY8 Pen,

fomt
fop}
5
&

-3
o3
e}
&

<
ot

e e (D
(e
E
ok

O
)
[av]

0o

O Qo
Pale R R,

s

S i i
BCRS: B I g

A

=
DR4
§GVE T

{
18GVB Pen

14
14

14
14
14

14
14

14

L] ¢ ®

S, O OO O

o

77
70
25
20
60
85

93
75

7o
60
60

50

75
75

50
75

69
83
58

65
60

28

10
28
15
Lo
75
75
€9
80

a

fea)

300-100-004-0ix
2

040-105-200-025

430-100-000-013

000~108-042~011
000~100-423-032
002-~100-0060-033
020~100-000~-033
042-100~000~0C13
000=-100=-423-032

042-100-000-013
000-100~423=-023

000~-030-100~-020
340~100~005-03%
000~103-405-033
040-1056-325-032

240-100-005-033
000-102-405-033

400-100-003-024
002-103~-040-032

430-100-000~-013
000-1C3-042-011
040-105-3256-011
000-100-034-013
040-102-200-022

5565~105-652-000

525-105-5669~021
240-103~350-033
000=-100=-220-033
000-=100-220-033
000-020~-100-010
C00=030-100-020
340-100-000-02&
000=103=-204-C01

040~106-320-032
545-100-000~-011
0056-1C3-400-012
240-103-550-033
000=100-220-033
000~1C0~220-033
240-100-00

QO = L0S5 - 23

ABI
CFGH

ABC
FGHI
ABCGH

AHI
BCFG

I1Jd

BJ

ABCF
CG
CH
CE
CE

ABC
FPGHI

ABCGH
ABI
FGH
ABCF
CG

CH
AEBC
FGRT

H O WaH ="ga

H Q

e G e

o G g o

H

oo

oo =oE I e



TGGET 0.3

LoD

l 18] o Jh

19GG7 Lio.l

o
5 i

C

Z0AE3
BOCHS

8112

85A1
CES3

6DQ4

6DT4

6GU7 Tri.2
6GU7 Tri.l
6CK6

6CW7 Tri.2
6CW7 Tri.l
1230

10CWb5
10GKS6

o=EB7 Tri,
SHR7 Pen,
6HZ6

15EW7 Tri.2
15EW7 Tri.l
20EW7 Tri.2
20EWY Tri.l
EL500

AL500

PL505

L] L

(-]

s e R B o B S T S I O]
o ®
O 11 G W

6.3
12,6

28

OO
foslesiNes
[N eI]

&0 45
25 25

9 87
0 87

ADDITIONAL TYPES

0 75
0 70
0 47
0 47
25 25
0 70
0 70
7 77
47 53
30 50
0 87
30 60
30 80
0 70
O 75
0 70
0 75
0 50
0 45
0 40

T ro

e AR

n

020H-100-C00-031
005~102-~000-C21
005-100~020-031

506-106~5562~C00
040~106-352-021
401~-022-500-022
030-800~000-021
030-500~000-021

000-030~100-020
500-030~100~-020

540-100~-000~-002
000-103-400-002

540-105-220-022
042-010-050-023
000-014-052~023

124-000-000-002
540-1056-3562-~021
040~105-325-011

005~100-034~-033
045~103-200-033
401-032-000-022
545-100-000-011
006=-103-400-01e
545=100-C00-011
006-103-400-012
450-103-555-301

450-103-555-301

450-103-555-301

CE
CE

ABC
rGH

BCFGH
ABC

FGI
BC
BCGI
ABCGH

AHT
ABFG

ABEFG
ABT
FGH

ABI
FGH

ACFJ
ACFJ

ACFJ

o

(oo I v o RN co BN @D B S

GOU g e B @ W e " = o=



1AHS

1AJ4

1M3 Target Full
3C4

SANB Pen.
S5AN8 Pen.
64AB4

6AKS

6AM8 Pen.,
6AN8 Pen
B6AVS

€CA4 P-2

eDU6 Target Open

FIiL.
29

1.4

6DU6 Target Closed

TAN7 Tri.2
7AN7 Tri.l
124V5

L7AVS
25AVS

12CAS

7189A
7408

7591
ECL 86 Tri.

6ENM7 Tri,2
EEM7 Tri.l
10EM7 Tri,.=2

1I0EM7 Tri.l
12EM7 Tri.2

13kM7 Tri.l

14

BIAS
0

15

o0
23

15
40

O

40

40
40

CoOoO0COC OO O

CORRECTIONS
MAY 1964

RANGE
70

85
95

85

29

75
£9
66

75
60

65
1)
60

75
70

75
20

€65
o0

50
6o
o0
65
905
65

TO KOUEL 1000
ROLL CRHART

TOGGLES
515-555-500-022

150-234~000-024

455-105-530~014
132-504~000~023
042~103-050-033

201-004-000~033
401~032-500-022
042~103-050~033

410-030-020-010

042-010~-050-023
000~-014~-052-023
410-030-020-010

410-030~020-010
410-030~020-010

540-105-353-021
013-340-000-001

0135-304-050-021
400~100-003-024

430~-000-010-032
000-430-010-013
430-000-010~032

000-430~-010-013
430-000-010-032

000-430-010~013

SHORTS

CG

ABFG
BCGI

ABI

VALUE

H



MODEL 1€00 ROLL CHART JSUPPLEMENT

For tubes requiring the usc of an adapter.

(Use LICO Model 610 or equivalent in conjunction with Simpson 0-008458 lead)

TURE
LaD2
Key O

Insert lead in

2AHZ2
Key O

Insert lead in

2432
Key O
Insert lead in

2CW4
2Ds4
2DV4

SAT2
Key O
Insert lead in

4HA7 Tri,.2
Key 3
Insert lead in

49707 Tri.l
Xey ©
Insert lead in

4HG7 Tri.2
Key 3
No connections

4HC7 Tri.l
Key O
Insert lead in

oBC3 Plate,2
5BC3 Plate.l

S5HC7 Tri.2
Key o
No connections

7 Tri.l
0)
rt lead in

pin #4 of

pin #4 of

pin #4 of

pin #4 of

pin #2 of

pin #4 of

requlired

pin #3 of

required.

pin #3 of

4 pin socket connect to cap of adapter.

4 pin socket connect to cap of adapter.

4 pin socket connect to cap of adapter.

FIL. BIAS.
1.25 O

4 pin tube
2.0 0

4 pin tube
2.5 0

4 pin tube
2.0 0
2.0 0]
2,0 0]
2.8 0

4 pin tube
5.6 0
3.6 0
5.6 0
346 0
5.0 o;
5.0 0
9.0 0
9.0 0

4 pin socket connect to cap of adapter.

€3 9

bp}

o U

¢

C 4 pin socket com

RANGE
73
socket
93
socket
90
socket

69
65

80
70

socket

60

25

95

87

40
40

90

75

30

o]

SELECTORS
1556-005-5656-213

connect clip to cap of

005-1556~555-212

cennect ¢lip to cap of

055-065-0056-212

connect clip tc cap of

050-410-000~023
030~410-000-023
250-415-000~-023
0565-055-555=-212

connect clip to cap of

415-030-0555-024

425-051-550-013

400-130-555-013

150-0065-254-034

150-535-665~000
150-5556-553-000

400~130-505-013

150~050~254-034

1556-004-5356~013

"4 pin socxet connect to cap of adapter.

104£=-500~005-013

we2t to cap of sdapter.

PUSH BUTTONS
SHORTS QUALITY

J J
adapter,
Jd J
adapter.
J J
adapter.
BDH B
BDH B
ADG A
J J
adapter,
AEF F
ABI A
AEF E
DGI G
X L
I I
ARF E
DGI G
EFi H
CDG D

{ Page.l)



6AF| | Pep.
ey 3

cAG11l Dic.2
T’\rf y 3
Insert isad
GAGLL Dic.l
Key &
Same ¢
641,11 Pen,2
Key G
Insert

SAL1] Pen,l
Key 6

. in pin #4

6.3
of 4 pin

6(&5

onnections as above,

6.5

lead in pin #5 of 5 pin

605

Same connections gs above.

GARL
Key O

Pen.2

6.5

Insert lead in pin #7 of 7 pin

6.9

¢
Seome connschions as above.

GASIL Tri.l
Key O

Inssrt lead
h e - ,
GhEi1 Tri 2
Koy O

Lnsert isad

AX3
ey C
Insect lead

63

in pin #4 of 4 pin
6e3

in pin #2 of 4 pin
5,3

iln pin #6 of 7 pin
Ga5

i pin #0 of S pin
6.3

nopin #4 of 5 pin
6,3

win £4 of 4 pin
5.3
fn pin #L o0 4 o

2 4n - -~y
v Lo ocap o

CY~CGCl =0 .. u?"” U

adapter,

Fal
¥
Y

051-0435-5556-023

ABCS

DrF

tube socket connect to cap of adapter.

o)

socket

0
socketb

0

¢
socket

0

o)
socket
0
socket
0

socket

69

0
connect

0

80
connect

33

85
connect

89

25
connect
95
connect
55
connect
65

connsach

(o2}

8

sonnect

Paga
Co
£
=l Y >
Sonnecy

051-550~340-023

102~055-5565-032
to cap of adapter.

020-051~-555-032

104-003-255-013
to cap of adapter,

403-3056-165-012

133-040-0565-012
to cap of adapter.

003-340-150-012

055~104~535-003
to cap of adapter,
014-355-055-002
to cap of adapter.
034-150-355-022
to cap of adapter.
041-303-055-002
to cap of adapter,
435-051=550-002
to cap of adapter.

15

H

(W]

~030-455=002

»

to cap of adapter.

TN LT LR R S YO

100=-356-005-000
N SUPSEEEN o~ v A - { e
o cap of adaplier.

GHI

BC

BC

BCDFG

ABCD

BCDEF

BCDEF

EFd

CDG

ABCG

BFG

&

b



ooz N 1=

pl:. socket connect to cap of adapter.

Oed 0 45 051-555-340-024 GHI
bove.

6AYIL Dic.Z Ged 0 0 102-055-5565-032 BC
Key O
Insert lead in Pin #4¢ of 4 pin socket connect to cap of adapter,
6AY11 Dio.l Ged 0 0 020-051-555-032 BC
Key b
Same connectlons as above,

6310 Tri.2 6.3 0 70 104-305-5556=-002 BCD
KEY O

Insert lead in pin #5 of 5 pin socket connect to cap of adapter.

€B10 Tri.l Ged 0 70 155-043-055-002 EFG
Key O

Insert lead in pin #4 of 4 pin socket connect to cap of adpater.

6810 Dio.2 6.3 0] 55 520-201-505-032 BC
6810 Dio.l 6e3 0 55 520-201-505-032 DC
Key 7

Insert lead in pin #6 of 7 pin socket connect to cap of adapter.

6BA1l Pen.2 6.3 0 40 132-400-000~014 BCDEH
Xey O

Insert lead in pin #7 of 7 pin socket connect to cap of adapter.

6BA11l Pen.l 6.3 0 40 102-403-000~014 CDFGH
Key O

Insert lead in piln #2 of 4 pin socket connect to cap of adapter.

HBALL Tri. 663 0 75 402-100-~000-023 ABC
Key B

Insgert ilead in pin #6 of 7 pin socket connect to cap of adapter,

§3D1£ Tri.l 6.3 O 30 055-104=553-003 EFd
fiie;t sad in pin #4 of 4 pln socket connect to cap of adapter.
6.3 0 05 014-355~-055-002 CLG
in Pin #2 of 4 pin socket connect to cap of adapter,

S 0 35 054=150-350-023 ABCG
in pin #6 of 7 pln socket connect to cap of adapter.,
6.3 0 7h 150-355= -020 DG

i Pin #3 of 4 pin socket connect to cap of adapter.

e9)

£}

o



&8F11 Pen.2

SIS 0 o0 104-002-300-024
ney O
insert lead 1n pin #4 of 4 pin socket connect to cap of adapter.
6BF11 Pen.l a3 o 75 402-210-000-033
Key 6
Insert lead in pin #7 of 7 pin socket ccnnect to cap of adapter.
EBH3 6.5 9 10 535-105-550-010
EBJ3 6.3 0 75 105-365-0565-020
Key O
Insert lead in pin #2 of 4 pin socket connect to cap of adapter.
6B33 6.3 0 12 535-105-550~010
6CW4 6.3 0 50 030-410-000~023
6C10 Tri.l 6.3 0 85 455~150-550-003
Key o
Insert lead in Pin #4 of 4 pin socket connect to cap of adapter,
6C10 Tri.2 6.5 0 85 5564-150-300-003
Same connections as above,
6C1l0 Tri,1l 645 0 85 155-030-400-003
Key O
Same connectlons as above,
6CO9 Tet.2 6.3 0 75 435-100-~-000-002
6CY9 Tet,l 6.3 0 75 000U=-100~433-002
Connect Model 1000 plate cap lead to cap of adapter.
6D10 Tri.l 6.3 0 15 435-051-550-003
Key 5
Insert lead in pin #4 of 5 pin socket connect to cap of adapter.
6D10 Tri.2 6.3 0 15 155-030-450-003
Key O

Insert lead in pin #4 of

6D10 Tri,3
Key 4

Insert lead in pin #5 of

6DS4
6DV4
6D 4

erJ7 Tri,l
Key o

Insert lead in pin #4 of

6rd7 Tri.2
Eey O

4 pin socket connect to cap of adapter.

6.3 0 15 941-503-055-003

5 pln socket connect to cap of adapter.

6.3 0 55 030-410-000-023
6.3 0 80 290~415-~-000-023
6.3 0 15 050-100~550-010
6.5 0 75 043-051~-555-002

4 pin sccket connect to cap of adapter,

Same connections as sbhove.

EFL7 Tri.2
; 0]

ooy
PR u\

— . - y . < J /
ingert ilesd in pin ya

6.5 O 23 154-035-0865-002
65 50 90 104-220-CE0-031
2 of 4 pin socket cornnect tc cap of adaspter.

BCEFg

bG

BI

BbiH

ABI

CGH

EFG

ABCJ
FGHI

ABIT

EFG

BFG

BDH

ADG

Bl

ABC

CEG

o2



ROUFARS SO

ey o

Insert lead in pin #4 of 4 pin socket connect to cap of adapter.

v Tri.z2
9)

o

LS

[

—f

n

6FY7 Tri.l
Key ©

0

Be¢d

6.3

Same connections ss abovs,

erc7 Tri.2
erC7 Tri.l

6GA7 Pen,
Key O
Insert lead in pin #6

6GA7 Dio,
Key ©
Insert lead in pin #5

6GES
Key O
Insert lead in pin #5

6GFo
Key O
Insert lead in pin #5

6GF7 Tri.2
6GF7 Tri,l

6GJS
6GT S

oGV
Key G

Insert lead in pin #2 of 4 pin socket connect to cap of adapter,

G
o

8G1L Pen.2
Key ©

Insert iead in pin #5 of 5 pin socket connect to cap of adapter.

11 Pen.l
v 6

6.5
6ed

645

of 6 pln socket connect to cap of adapter.

6.5

of & pin socket connect to cap of sdapter.

0ed

of 5 pin socket connect to cap of adapter,

6.3

of 5 pin sock et connect to cap of adapter,

6.3
6.5

6'3

6.3

6.5

6.5

6'5

6.5

same connsctions as shove,

SING}

of 5 pin socket connect to csp of adapter,

O

0

0

O
0

0

0

0

0

0
0

25

25

25

0

o

0

25

&0

70

47
47

45

75

93

93

65
70

18
10

35

6o

87

67

90

Y mps O
;’@bb e o)

164-0356~-006-C01

ert lead in pin #4 of 4 pin socket connect to cap of adapter,

043~150-5505-003

340~100-000-01%
000-103-400-012

135-400-356-001

055-301-0556-020

124~-005-355-001

124-005~355-001

040-103-500-032
000-100-534-034

340-105~5656-331
340-105-55&-031

102~0406-555-232

105-045~5556-301

lead in pln #2 of 4 pin socket connect to cap of adapter.

104-003=-255~013

405-305-155-011

124-005-355-03%

ABC

ABC

ABC
FGH

BDEG

AD

BCDG

BCDG

BCF
AHT

ABCJ

ABCI

CDEJ

CDEJ

BCDFG

ABCD

BCDG

<



¢HDS 6.3 3% 25 102-048-355-021
ey U

tnsert lesa In pir #5 of o pin socket connect te cap ol adapter
cHES 6.3 O 90 143-C03-555-001
foy O

‘rsert lesd in pin #56 of § pin sccket connect to cap of adapter.
£ 6.5 20 8o 102-045-550-231

rey 0O

Imsert lead in pin #2 of 4 pin socket connect to cap of sdapter,
EHTO 6.3 55 70 104-020-2355~020

Key O

Insert lead iIn pin #6 of 6 pin socket connect to cap of adapter.
6JE6 6.3 25 35 240-~106-500-232

OJESGA o 50 70 240-105~5056-320
63G6 6ed 60 70 240-100-0035~020

6IMO 6.3 50 90 102~040-555-320

Key at O

Insert lead in pin #6 of 6 pin socket connect to cap of adapter.
6JN6G 6.3 75 95 254-0581-020-020
ey O

Insert lead in pin #1 of € pin socket connect to cap of adapter.

6JT6 643 25 £5 240~100-503-010

cJ9 Tri.d 649 0 10 340-100-000~003

6J9 Tri.2 6.3 0 10 000~103-004-003

6J9 Tri.l 6ed O 10 000~-100~-430-003

Connect ilodel 1000 Plate cap to cap of adapter.

€J10 Pen.l 63 40 25 150-302~405-024

Key O

Insert lead in pin #3 of 4 pin socket connect to cap of adapter.

6J10 Pen.2 648 0 25 413-020~555-023

Key &

Seme connecticns as zbove.

6J11 Pen.2 SING 0 43 133-040~-055-003

Key O

Insert lead in pin #7 of 7 pin sccket connect to cap of adapter.

6J11 Pen.l 6.7 @) 43 950~304-C51-003

Key 8

Same connections as above.

£J28 Pen.,. 04 9] 7o 150-354-530C-001

Key O

Insert lead in pin #3 of 4 pin soccket connect to cap of eadapter.

£J48 Tri. .3 0 30 004~016=-055-023

Yey 6

Insert lesd In pin #5 of & pin socxeb cornnect to cap of adaopter.

Dol ot

Cn gl
[ ]

CBEG

ST T

BCODE

BCDRG

ApCHJ

ABCEJ

ABCFI

BCDEJ

ACGHI

ABCHI

ABC

FIJ

GHJ

DEFGH

ACEYF

BCDEF

BCOLET

DIIT

H

o e

(@]



R T L 0
LIPS o 'PF NI B A
eV D

Y

Insert lezd in pin 44 of

6111 Tri.e
rey O

6.3

Q

lohel
[

410-0&0~585=003

4 pin sccket corniect to cap of adapter,

N

6.

Same connections ss above.

erfll Tri.l
Key o

6.5

Same connections as sbove,

611 Pen.
Key o

No cornections required.

€M1l Tri,.2
Key O

6.3

6.3

Y

0

77

70

oe

10

155-030-455-003

425-061-550~012

515-0861-435-002

105-043-555-003

Insert lead in pin #2 of 4 pin socket connect cap to adapter.

0

0

10

87

105-505-340-003

410-030-555-003

Insert lead in pin #4 of 4 pin socket connect to cap of adapter.

eNM1ll Tri.l 6.3
Key O

Ssme connections as above,
6Q1l1l Tri.3 6493
Key 3

6Qll Tri.2 6.2
Key O

Same connections as above,
6Q1l1 Tri,l 6.3
Key ©

Same connectlons as above,

679 Tri,. 6.3
Key o©

Insert lead in Piny3 of 4 pin
6TC Pen. SR
Key 6

Insert lead 1lh pin #5 of 5 pin
6T10 Pen.2 6.3
Key O

Insert lesd in pin #4 of 4 pin
€710 Pen.l SI)
Key ©

Insert iead in pin #7 of 7 pin
6U10 Tri.2 6.5
Key 6

Insert lead in pin #5 of 5 pin
6UL0 Tri.2 6.3
Key O

Insert Jead in Pin #4 of 4 pin

0

0

87

67

85

1566~030-455-003

455-051-550-01%2

130~-405-555-013

socket connect to cap of adapter.

0

socket

0

socket

0

socket

0

socket

0

socket

S

35

connect

95

connect

50

connect

79

connect

90

conrect

402~-3156-0556-023
to cap of adapter,
104-002-300-013
to cap of adapter,
402~-310~000-023
cap to adapter,
6556-415-020-023
to cap of adapter,
165-020-455-024

to cap of adapter.

ABT

BCGH

Dor

GHI

AEF

EFG

ABI

BDE

ABCD

BCEFG

ABCD

DHl

EFG

txi

G



1o Tru.| 6.3

: >‘\ﬂ»ﬁ tions 58 above

TECT Tri.Z 0O

7TrCT Tri,l .

8B10 Tri.2 7.5

Key O

Insert lead in Pin #3 of 4 pin

8B10 Tri.l 7.5

Key O

Insert lead in Pin #4 of 4 pin

8B10 Dio.2 7.5

B8B10 Dio.1 740

Key 7

Insert lead in pin #6 of 7 pin

10AL11 Pen.2 10

Key O

Insert lead in tin #5 of 5 pin

10AL11 Pen.l 10

Key 6

Same connections as above,

10GF7 Tri.2 10

10GF7 Tri.l 10

11AR11 Pen.2 10

Key O

Insert lead in pin #7 of 7 pin

11AR11 Pen.l 10

Key 8

Same connections as above,

128111 Pen.2 12,6

Key O

Insert lead in pin #5 of 5 pin

12AL11 Pen.l 12.6

Key 5]

Same co ions .as above,

12R43 12.6

RKey ©

Insert lsad in pin #2 of 4 pin

1ELYE 12.6
12.6

tead ln piln #3% of 4 pin

12,6

o
0

0
socket

0
socket

0
0

socket

0

socket

0

0
0

0

socket

0

0
socket

0

socket

0

0

socket

0

1 socket

Pe

75

47
47

77
connect

7
connect

60
60

connect
80
connect

35

65
70

90
conneoct

20

80

connect

25
connect
15
70
connect
75

connecth

& [e]
HEE o
&

443,51 50-500~CR3

340-100-0C0-012
000-103-~400-012

104-306~5556-002
to cap of adapter.
156=043-055=002
to cap of adapter.

520~201-505-032
520-201~-506-032

to cap of adapter.
104~-003-255-013
to cap of adapter.,

403-306-155-012

040~103-500~032
000~100~534-034

133-040-055-012
to cap of adapter,

905-340-050-012

104-003-2556~013
to cap of adapter,

403~508=-~155-012

105=3955=055=000
to cap of edapter,
835-1058=550~010

150=355=065=020

to cap of adapter.

1G5=355=-065-020

o ET

te sap of adapter.

ABL

ABC
¥GH

BCD

EFG

BC
DC

BCDFG

ABCD

BCF
AHT

BCDEF

BCDEF

BCDFG

ABCD

DG

BI

F

asies|

¥

D



.......

.
Lo e O

f\')

(]
)
€3
}‘.J
o)
"’\

i
o
o

1

nasrt lead in pln #56 of & pln soccket connect to cap of sdapter.

12GJ3 12.6 25 18 340-105-5565-331 ABCHJ
12678 12,6 29 10 340-105=553-031 ABCI
12JB6 12.6 295 39 240-1056=500-2532 ABCHJ
12JN6 2.6 75 95 254-051-020-020 ACGHI
Key 5

Insert lead in pin #1 of 6 piln socket connect to cap of adapter.

127376 12.6 25 65 240~-100-503-010 ABCHI
13CW4 12.6 O 75 030-410~000=023 BDH
13FM7 Tri.2 12,6 &0 90 104-520~050-~031 CEG
Xey O

Insert lead in pin #2 of 4 pin socket connect to cap of adapter,

13FN7 Tri.l 12.6 O 695 043-100-555-013 ABC
Key b

Insert lead in pin #4 of 4 pin socket connect to cap of adapter,

13J10 Pen.l 12.6 40 25 150-302~4056-024 DEFGH
Key O

Insert lead in pin #3 of 4 pin socket connect to cap of adapter,

13J10 Pen.2 12.6 Q 25 415-020-5565-023 ACEF
Key 3

Same connectlons as above,

13GEF7 Tri.2 12.6 O 65 040-103-500-032 BCF
13GF7 Tri.l 12,6 O 70 000~100-534-034 AHI
18AF1L Tri,l 14 0 38 1565=004-535-013 EFH
Key O

Insert lesd in pin #4 of 4 pin socket connect to cap of adapter.

184F1L Tri.2 14 0 10 104-355-055-013 CDG
ey G

Ingert lsad in pin #2 of 4 pin socket connect %o cap of sdapter,

LOAFLL Pen. 14 o 13 024-051=-350-003 ABCG
Key 5

Insert leed in pin #4 of 4 pin socket connect to cap of adapter,

LEEDLL Tri.d 14 & 30 086-104=555-003 EFH
ey Q

Insert lsad in pin #4 of 4 pin socket connect %o cep of adeptsr,

18801 Tri.2 14 0 96 014~305-055~002 CLG
Key Q

Insert lead in pin #2 of 4 pin socket connect to cap of adapter

sy ‘ . - . PR e N
eI 14 G fole WEWA ’&5 Jenss 50238 i RCG
- o ri PO o . JERPEN Iy N - o i - A o
w ¥ AL FO 0L Y DIn 2o0Hen G ISECH VIRV R W cBDLel s

bl

(@]

rxi



insert lesad in pin #2 of 4 pin socket
10FK7 Tri.l 14 0

Key o

insert lead In pin #4 of 4 pin socket
L5FY7 Tri.c2 14 0

Key O

Insert lead in pin #4 of 4 pin socket
18FY7 Tri.l 14 o

Key &

Same connections as above.

16GY5 14 25
Key O

Insert lead in pin #2 of 4 pin socket
17AX3 14 0

Key O

Insert lead in pin #2 of 4 pin socket
17AY3 19 0]
17BE3 19 0

Key O

Insert lead in pin #3 of 4 pin socket
17BH3 19 o)
17BS3 19 0]
17Br11 Pen.2 14 0

Key O

Insert lead in pin #4 of 4 pin socket
17BF11 Pen.l 14 0

Key &

Insert lead in pin #7 of 7 pin socket
17C9 Tet.2 14 0
17C9 Tet .l 14 0
Connect iodel 1000 Plate cap lead to
17GES 19

17GJ8 19 25
17GVO 14 )
Key O

Insert lead in pin 72 of

177G s 19 20
17388 14 25
17JGE 14 60
IS 14 &0
Key O

LTS E n pin ¥6 ol © pin socket

o

connect

6o

connect

75

90
connect

25
connect

15

68
connect

15

10

60
connect

75
connect

85
85

87

10

[

3

(@)

<< -1 en
- Qi

S

conunecs

043-100-555-013
to cap of adapter,
1064-035-055-001
to cap of adapter.

043-150-555-003

102-045-555-331
to cap of adapter.
105-355-055-000
to cap of adapter.
935=-1056-550~010
150-355~0565-020
to cap of adapter,
5356-1056-550-010
535-105-550-010
104-002~300-024
to cap of adapter.
402-310-000~033
to cap of adapter,

435-100-000-002
C00-100-433-002

cap of adapter.

124~-005-355-001
540-105-556-331

102-045-505~232

4 pin socket connect to cep of adapter.

100-003-0

[N
jo]

C,i

B4~

222

553-020
909-320

240=105-~500~
240-100-
102-040~

t0 cap of zzapter.

ABC

CEG

ABC

CDEJ

DG

BI

bG

ABCD

AT NI T
AZumd

L AT T
Apul L

TIOINTA T
Dolrd

i3

+—

[ S



N T

T &

R 14 TG
[roert lecd In pin #1 of 6 pin socket
17JT6 14 30
17348 Pen. 19 0

Key O

Insert lead In pin #3 of 4 pin socket
17728 Tri,. 19 0

Key ©

Insert lead in pin #5 of 5 pin socket
19Q9 Tri. 19 0
1949 Pen. 19 0
Connect kiodel 1000 Plate

21GYo 19 0

Key O

Insert lead in pin #2 of 4 pin socket
21HBS 19 29
Key O

Insert lead in pin #5 of 5 pin socket
21HDS 19 40
Key O

Insert lead in pin #2 of 4 pin socket
21HJ5 19 39
Key O

Insert lead in pin #6 of 6 pin socket
22BH3 25 0]
22JG6 19 60
28HD5 28 3b
Key O

Insert lead in pin #2 of 4 pin socket
28HJS 28 39
Key O

Insert lead in pln #6 of 6 pln socket
Z0AGLL Tri.2 28 0

Key O

Insert lead in pin #3 of 4 pin socket
30AG11 Tri.l 28 9

Key O

Seme connectlons as above,

308G11 Dio.2 -Key O 28 0
S0AGL1 Dio.l -Key S 28 O
Insert lead in pin #4 of 4 pin socket
adapter,

ZEGTT7 Pen 28 25
ingert lesd in pin 7 of 7 pin socked

N®)

Lo B I
<O U O

—

connect to cap of
£o

©o

e
[y

[

adap

ct

~
[

w2
[y

O

240~100-503-010

150-354-520-001

conmect to cap of adapter,

10

0564-015-035-023

connect to cap of adapter.

85
90

55
connect
90
connecy
37
connect
75
connect
10
70
20
connect
75
connect
Ll
connect
77

10 102-C55
10 020-0501-
for both diode tes

15

TO Cajg

Py

558
555
ts

O

corn

a e
D 0L auzDu

S

000-100-043-002
455-100~000-002
cap lead to cap of adapter.
103-045-555-301
to cap of adapter,
124~OO5~555-651
to cap of adapter.
102~045-355-021
to cap of adapter,
104~020~355~020
to cap of adapter.
555=105-550~010
240-100-553-020
102-045-355-021
to cap of adapter.
104~020-3565-020
to cap of adapter,
051-043-555-023
to cap of adapter.

051-055-340~023

504=251-300-032

T,

&)

ACGHT

ABCHI

Drill

cbd

GHI

ABCJ

CDEJ

BCDG

CDEG

BCDEG

BI

ABCFI

CLEG

BCDEG

DEF

i

i

3

(]



220TT DL, 28 0 65 1350~000~500~010 B

Fey O

Insert lesad in pin #3% of 4 pin socket connect to cap of adapter,

£3GY7 Pen. 28 29 15 500~421~-300~032 BDEG

Key 7

Insert lead in pin #7 of 7 pin socket connect to cap of adapter,

23GY7 Dio, 28 0 70 130-000~-500~-020 ED

Key O

Insert lead in pln #3 of 4 pin socket connect to cap of adapter,

7586 6.3 0 12 030~415-000-023 BDH

7587 £ed 79 53 020-410-000-332 BEDHJ

7868 6.5 0 40 540-106-5535-002 ABCI

7895 663 0 o 020-41C~-000~-034 BDH

7984 12.6 395 25 431-000-355-031 ABYG

Key 4

No connections reguired.

80o6 €65 0 55 020-410-000-033 BUH

8156 l2.6 38 70 431~000-356-031 ABFG

Key 4

No connections reguired.

€203 6.5 0 65 020-410~000~034 BDH

B39& 12,6 O 70 020~-410~-000~-034 BDH
ADDITIONAL TYPES

6GBS (WMagnoval socket) 6.5 0 o0 450~103=-555~301 LCKRJT

13GB5 (Magnoval socket) 12.6 O 45 450-103-555~-301 ACEJ

27GBS (liagnoval socket) 28 0 40 450-103-555-201 ACFJ

22BW3 19 0 60 015-355-C556~020 DG

5U9 Pen. 5.0 15 25 004-010-325-022 BCLGI

5U9 Tri. 5.0 Q 40 055-510-452-023 AGI

Plug dual banana lesd in pin #7 of 7 pin socket. (10 pin tube socket)

5V9 iept. 5.0 25 85 004-210-200-038 ABCDG

oSV9 Tril. 9.0 o 85 255-510~54C~022 AHT

Plug dual benzna plug lead in pin #1 of 7 pln sccket. (10 pin tube socket)

5X9 Pen. 5.0 25 25 004-C10-225-022 BCDGH

5X9 Tri, 9.0 7o 055-510-452~018 AGT

Plug dual banana plug lead in pir #7 ol 7 pir socket. (10 pir sccket)

€09 Pen, e.3 10 20 004-C10~-226-022 BCOGH

6Ug Tri. o ¢ C 056-010-452-023 AGT

Plug cusl bznans plug lecd in pin 37 of 7 pin socket ( 10 pin scoked ).

TR TR w S W SR

>

= Q2



I banana

6Y9 Pen.l

Plug dual banana plug
gUe Fen,
8U% Tri.
Plug dual banana plug
8XS Pen,
8¥9 Tri.
Plug dual banana plug

579 Hopt,
ave o

in pin #6

3 in pin #6 of

S

51

F
o
&7

(9

g(
s
iead in

6.3
5.3
lead in

Ged

6.0
lead in

76D
7D
lead in

L banans plug L

10
10
isad in

6563

pin #l
25
0
pin #7
25
0
pin #4
15
O
pin #7
20
0
n pin #7
25
0
pin #1
25
pin #4
25
0
pin #4
0
o)
50

12.6 50

19.

50

iyt

of

of

of

of

of

of

6 pin socket connect

ol 6 pin socket connect

£
T

5o 004=210-200~-033 WL
8o 255-510~-540~025 AT

7 pin socket. (10 pin tube socket)
25 004-010~325-022 BCDGH
73 055-510-452-012 AGT

7 pin socket. (10 pin socket)

80 402-210-565-011 ABCD
45 555-310-043-033 DGHI
4 pin socket. ( 10 pin socket)

20 004~010-326~022 BCDGH
45 055-510-425-023 AGI

7 pin socket. ( 10 pin socket)

25 004-010-325-022 BCDGH
75 055-510-452-013 AGI

7 pin socket. (10 pin socket).

80 004~-210-200~033 ABCDG
85 255-510-540-023 AHI

7 pin socket. (10 pin socket).

85 402-210~5565-011 ABCD
55 555-310-043-033 DEHIT
4 pin socket. (10 pin socksth)

85 402~210-565=-011 ABCD
70 555-310-042-033 DGHIL
4 pin socket. (10 pin sockst).

65 135-5565-000-020 BG

65 135-555=-000~020 BG

55 002-041~555-331 BCDEJ

to cap of adapter.

56 002-041-5556-331

to cap of adapter,

60 240-105-5565-331

&)
o
()

=4

- G2

jw]

o

o

€og



